TotalMarks:.... Class:10th Time:....
Test:Physics
Attempt ......... questions

1 During natural radioactivity how many types of ¢ 073 W o rl' U;@’w L& Lk, J ﬁ

radiations are emited.

(@ 1 (b) 2 (a) 1 (b) 2
(e 3 (d) 4 (c) 3 (d) 4

2 The half of a certain isotopes is 1 day. What is MLL//U})}LU}JJUJ&JV)]}J ;u’,«e{_f
the quantity of the isotope? o d/!’ u’/wf d/ 5 U

= . 4 V

(a)  one half (b)  one quarter (a) ug bae($3T (b)
(c)  one eight (d)  none of these (c) 1/8 (d)tf( L} = ~U’

> Particles in the nucleus of an atom are: gl bl a«b;'uﬁgf-:){}éé |
(a) protons & electrons (b) protons (a) ‘/':}..a wl'};;/? (b) S]7%
(c) protons & neutrons (d) electrons & neutrons (c) ‘/’;/"f'ul‘/'}’b;/ (d ‘/’3/?/;"/’;}6 /

4 The half of a certain isotopes is 1 day. What is FJLL//‘J,,,LU)JJUJQJV”J ;u’,«a{f
the quantity of the isotope? o d/!’ u’/wf d/ 5 U

= » 4 V

(a) one half (b)  one quarter (a) uqlpn‘u@ [ (b)
(c)  one eight (d)  none of these (c) 1/8 (d)J( L}fé— Lf U’

5 The half life of cobalt is: e ey
(a) 40 years (b) 50 years (@) JL-40 (b) Ju-50
() 20years  (d) 30 years (©) JL20 (d) JL-30

6 Which among the following radiations; has more "c.dfwtuﬁ.ﬁ/d’ JJZ_J’/’;U’,/J}@J}
penetrating power?
(a) Betaparticle (b) gama’pariicle &) L‘é }tj (b) tf/ /.L.L'-’./
(c)  alpha particle (c) ¢
(d) all have the same penetrating ability (d) Ldyu’w J Jllﬂ..ﬁ/u’ J(V

7 The half life of radium-226 is: —e S 226( 4
(a) 4000 years  (b) 2800 years @  Ji-4000 (b)  JL-2800
(c) 1620years  (d) 5730 years ©)  J5730 @  J1620

8 Proton is heavier than an electron. -‘Lt‘ﬁdjteia—cﬂ}g ’L‘);!/..,
(a) 1836times  (b) 1863 times @ 1836 ®) 71863
(¢) 1870 times (d) 1800 times (c) 1870 (d) 1800
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